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39- Ali......... speak Engllsh, and neither can Hamid.
1) couldn’t 2) can
3) could 4) can’t
40- You must have Your hair........ because it's too long.
1) cut 2) cutting
3) to cut 4) was cut

41- We....... on the problem all day long.
1) were working
2) are working
3) worked
4) have been working
42- His recent...... has surprised every one.

1) inventive 2) invention
3) invent 4) inventor
43- | tried to........ him after his mother’s death.

1) comfortable 2) conforted

3) comfortably 4) comfort
44-1....... alone if you don’t come here.

1) will be 2) was
3) had been 4) would be

45- They couldn’t move the huge piece of stone, so thg
had to use a machine. “huge“ means.........
1) very strong
2) very big
3) very weak
4) very little
46- It's very difficult to learn English....... in short time.
1)loudly 2) perfectly
3) kindly 4) hardly
47- Disease and fire caused much.......... last year.
1) damage
2) to damage
3) damaged
4) damaging
48- You don't have to...... about any thing. You are unde
the protection of police forces.
1) worry
2) respect
3) wait
4) impose
49- The word"........ " has stress on the first syllable.
1) ability 2) police
3) exercise 4) translation
50- Clerk: “Do you want a first class ticket? “man”.......
1) let me get you a smaller pair
2) yes, about two weeks
3) no, a second, please
4) Excellent
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